
* Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under
the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.

Items Supplied > 

1 - 10mm x 25mm Hex Bolt 
4 - 5/16” x ¾” Hex Bolts 
4 - 5/16” Hex Nuts 
4 - 5/16” Lock Washers 
1 - 5/16” Flat Washer 

Application >

VT1100 87-96 

Instruction Manual > 

1. Remove gas tank and front frame covers.  Hold one side of your Freeway Bar into position so that the bracket at
the top with two holes in it aligns with the two holes up by your steering head.  Note where the bottom mount will
bolt into place.  Now do this with the other side.

2. Drill out the two existing holes at the top of your frame using a 5/16” drill bit.  Repeat this on the other side.

3. Remove the upper bolt from the right side foot peg bracket.  Bolt freeway bar into place using supplied 10 x
25mm hex bolt.  Bolt the top freeway bar mount into place using supplied 5/16” bolts, lock washers and nuts.

4. Remove the upper bolt from left side foot peg bracket.  If you are using stock foot peg brackets place the
supplied 5/16” flat washer between the freeway bar and the foot peg mount and torque stock bolt to factory
specifications.  When using the freeway bars in conjunction with Cobra floorboards, you do not need to use the
supplied 5/16” flat washer.

5. Re-install front frame covers and gas tank.

Cobra Freeway Bars add style to your motorcycle.  They are not designed to withstand a serious impact and 
may not protect you and/or your motorcycle in the event of a crash. 

Cobra Freeway Bars add style to your motorcycle.  They are not designed to withstand a serious impact and
may not protect you and/or your motorcycle in the event of a crash. 

01-1120 Page 1 of 1

Rely on premium motorcycle guards and protection by Cobra USA if you’re looking for quality and efficiency.

https://www.motorcycleid.com/guards-protection.html
https://www.motorcycleid.com/cobra-usa/

